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EMn2+/Mn =0.34 - Ecey

[Mn®7] (mol/L) (V)Ecen logIMn*T|  (V)Eyn2+/mn
5 x1071 1.529 -0.30 -1.189
2 x1071 1.541
1 x107t 1.550
7.5 x 1072 1.553
2.5 X 1072 1.567
8 x1073 1.582
6 x1073 1.590
3 x1073 1.594
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Ol saalg | 1 + 1 M XV=MxV
O 92ill mol 0.200mol
i O.SOOT XV = — X 100mL
da ) iad V=40 mL=0.04 L
1) 1 C"’Az MnZ+ Cell Potential Electrode potential
Gl (K | 2 molam || Lesel | manganese 3
alr-cel
Loa + ’
ZULU U‘:\ 2 50- 10" +1.529 -0.30 -1.189 + \
e O k_l
'4'= 12 E 20- 101 +1.541 -0.70 -1.201
1.0 10 +1.550 -1.00 -1.210
75-10-2 +1.553 -1.12 -1.213
Qu;JJ C'M" 25. 102 +1.567 -1.60 -1.227
oS 13
. 8.0. 103 +1.582 -2.10 -1.242
(e )
8 s 6.0- 103 +1.590 -2.22 -1.250
&L}U\:\.} 40- 10-3 +1.591 -2.40 -1.251
Z\A,.\M 3.0-10-3 +1.594 -2.52 -1.254
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[ 12n2]
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1 0.010 1.0 -4.61 1.16
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